AC184%7%

Z RIEnE
£10%

REL, MEHO 2 $hEZss, M8 KRR,

100 mV/g,

(ORISR

ERIES M8 N A
sHS
» 100 mV/g REE,

» +80 g, IEENTCE
> R 2 £ MIL ]

=g >

VIBRATION ANALYSIS

HERE

+10%

A — AT URRSE

HARDWARE

-AC184-1A -AC184-2C -AC184-3C -AC184-6C
2 §hiZEhEss CB103 —{Az(FESS CB20655E—1{AT(FBAS CB61 ERYEEE— A B4R
RS R
—Fh () {55/5R O () (55/4ER T () (55/4ER O () (SS/FER
z (-) B ZEg (1) HIK ZEg (-) EIK BEM (1) B
B Hie B Hie B Hise
) L e (a7
T e + J—\ i ]‘ na pisrey  pham . -[—
.;;i;"m,* T ;
! l 129.5 mm) ot [29.5 mm]
_‘&22‘:.“. et Ton Dxrsmommonor i ' 4 Bon, bl
M8 x 1.25 TAPPED HOLE 42,9 mm] MO x 126 TAPPED HOLE 142.9 mm) M8 X 1.25 MOUNTING BOLT —;dgggmmml M8 X 1.25 MOUNTING BOLT
= M8 X 1.25 TAPPED HOLE M8 x 1.25 TAPPED HOLE
B sz (O g ! @m_ v [ % '
| e, R | SR
151in __l #1170 K | R
(38.4 mm] 9298 mm] i % o J #1170 _1 @
219in mm MMJ o —— B AN [1]21“7“"‘] 117 in
[55.5 mm) 146 1%29.8 mm)
P e L g
1] Einlim
Htg 7 2l g i 2 2ibl
RBE (£10%) 100 Zfk/52 Y
SRERIARL (+3dB) 30-600,000 CPM 0,5-10000 %z  BESEE -58 Z 250°F -50 & 121°C
SRERIBRL (+10%) 120-300,000 CPM 2,0-5000 #%% = SAHIDEHER 5,000 53, I&fE
WREE + 8053, IE(E BRI TBKE
s s 25, mH
FRxERTE] <257 EIKRE 200 R 60K
EB/ER (IEPE) 18-30 fAE ESL0N:D|
SRR 2-10 2R {’5’57_514* EREE
SRIEIRAE @ 10 Hz 14 ug/NHz &R BUER
SHEIRF @ 100 Hz 2.3 ug/NHz =8 6= 17055
SRIEIEF @ 1000 Hz 2(352/VHz v 316LAEEN
bzt izt <100 RX ke M8
REMHEBE 10-14 {RER EEEE (EERR) M12
E ) >10 ®ERiE HRITER 1,200,000 B FRETEH 200007#%%
RIHHE 2 %5 ZRES 2,75 6,8 A4k
LRI M8 RERiZfe
ROEIES CAI0
P ST ZZE [y
- \:l:’)Jﬁz%‘_—\u[a] \—‘L
+6 dB
3dB
+10%
° G| ]
T T ) :
-10%
3dB
6 dB
05 1 10 100 1000 10000



